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6.7 Geometric Sequences and Series — Day 1 San- L(q\ "'"\ﬂ\

warm up! Express the series below in sigma notation, then find the sum.
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Recursive Definition for Geometric Sequences:
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Ex. 1: Decide if the sequences below are geometric. If so, write the recursive definition.
A. 1.22,1.45,1.68,1.91,... B. -1.5,0.75,-0.375,0.1875,...
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Ex. 2: Given thé Tecursive definition below, what is an explicit definition for the sequence? Hint: look for a pattern!
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Explicit Definition for Geometric Sequences:
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Ex. 3: A phone tree is when one person calls a certain number of people, then those people each call the same number of
people, and so on. In the first round of a phone tree, three people were called. In the fifth round of calls, 243 people were
called.

A. Write an explicit definition to find the number called in each round.
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B. How many people were called in the eighth round of the phone tree?
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6.7 Geometric Sequences and Series — Day 2
Geometric Series:

Finite vs. Infinite:

Like o covunr Mod  owdS (Vsecnx 90 to Mmjb\w\

wmbwife.  4stS ov Loctvey
~Convergent vs. Divergent

Copppfulys & Swus W 8 Sm s

Ditrul’ o sevua SE

ot n\gp a.cj
Ex. 1: Classify each series or situation below as convergent (\wn¢ o Svo )ordivergent (deemadr Wave o 2., M),
A, 2+4+8+16+...+2€6 Convervaonk, Luude 2 oF
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B. 3+9-27+81-243+...
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C. Your parents’gi\ﬁe you $50 for your birthda;f, then $25 for your next birthday, then $12.50 for the birthday after
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Sum of Finite Geometric Series Sum of Infinite Geometric Series
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Ex. 2: Finite Geometric Series.
A.Express 3+6+12+...4+ 768 in sigma notation, then find the sum.
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B. The sum of a geometric series is 155. The first term of the series is 5, and its common ratio is 2. How many
terms are in the series?
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Ax. 3: Infinite Geometric Series. Write in sigma notation (if not already in it), then find the sum if it exists.
A. 0.2 +0.02+0.002 + 0.0002 +...
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Ex. 4: A ball was dropped from 50cm. The ball rebounds to a height of 40cm, then 32cm, then 25.6cm and so on. What is
the total vertical distance traveled? 4 _ 0%
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Ex 5: Additional Practice. Write in Sigma notation and find the sum (if possible).
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